1 20Km
2011 4 10 10 00
( )
a b c=b-
a
( ) ( ) -

*1 *1
31 30k 2011/3/23 1143 |  2011/4/8 11:00 5977 2011/4/9 10:27 6214 23 27 231
(10.1 paSv/ )
32 30k 2011/3/23 1214 |  2011/4/8 11:20 134001 | 2011/4/9 1045 13950 *1 23 25 550
(235 paSv/ )
33 30k 2011/3/231232 |  2011/4/8 11:35 78381 | 2011/4/9 1053 8141 "1 23 18 303
(13.0 paSv/ )
34 30k 2011/3/23 1308 |  2011/4/8 12:26 2779 "1 2011/4/9 9:49 2887 "1 21 23 108
(5.1 paSv/ )
38 35k 2011/3/31 1623 |  2011/4/8 11:46 2160 | 2011/4/9 11:26 2271 23 40 1
(0.5 paSv/ )
7 25k 2011/3/23 1300 | 2011/4/8 13:05 6561 | 2011/4/9 12:43 6721 23 38 16
(0.7 paSv/ )
79 30k 2011/3/23 1409 |  2011/4/8 11:56 63011 | 2011/4/9 10:18 6550 *1 2 2 258
(115 paSv/ )

*1 *1
7 35k 2011/3/23 1206 |  2011/4/8 11:40 384 2011/4/9 10:57 400 23 17 16
(0.7 paSv/ )
1 60k 2011/3/24 1520 |  2011/4/8 15:56 414"t | 20117479 1427 477 2 3 63
(2.8 paSv/ )
15 35k 2011/3/24 1058 |  2011/4/8 11:00 6310 | 2011/4/9 11:40 660 "1 2 40 290
(1.2 paSv/ )
84 40km 2011/3/25 1040 |  2011/4/8 10:04 82"t | 2011/4/9 10.03 86 "t 23 59 4
(0.2 paSv/ )
39 45 2011/4/1 1045 2011/4/8 10:47 130"t | 20117479 1018 145 *1 23 31 15
06 usv/ )
76 20km 2011/4/2 1135 2011/4/8 11:41 77t | 2011/4/9 10:55 901t 23 14 13
06 pusv/ )
80 25km 2011/4/3 11:56 2011/4/8 12:19 75*t | 2011/4/9 11:25 88 "L 23 06 13
(0.6 uSv/ )
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